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1. +T

(1)EELET
LT FEIRRE B, om, BEA T m3 2. 000
&+ T %rﬁ@tl. Om=B<2. 5, if 3 15, 000
&+ T %Ti?}%ﬂ. Sm=B<4.0, Jif 3 57 000
LT IR B=4. om, AT m3 281. 000
&+ T %iﬂ@il. Om=B<2. bm, ¥ 3 48. 000
&+ T ﬁgg%ﬂ. 5m=B<4. Om, 3 19. 000
LT B RS +4.0=B, HEA T m3 85. 000
LT FiRRE 4. 0=B, A * m3 92. 000
A L m3 90. 000
E TR L e ot 331. 000

(2)fE¥tT
RIE D T B m3 302. 000
RIEY L B m3 2. 000
BIE L m 317. 000
LR L HEXEW 531 m3 83. 000
TR L B<1. Om m3 57.000
TR L 1. Om=<B<2. 5m m3 32.000
TR L 2. 5m=B<4. Om m3 17. 000

2. HEEET

(1) 7w 7 FbERE T.
AR t=350 nf 56. 000
AR RC-40 m3 19. 000
H bt TEFHEAEE, t=10 nt 3.000
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TFE - R - A0 Biks AL Hk
Kk & A7 VP ¢ 65 m 16. 700
W H By 1k 300%300%30 e 31. 000
(2)R¥g= 7 ) — b
a7 Y—h 18-8-25 m3 1. 700
fitzs IR EY) m 4. 200
H HikA TEFHEAEE, t=10 nf 0. 100
(3) M= 7V —k
ar 79—k 18-8-40 m3 2. 400
fitzs IR EY) m 7.900
St RC-40, t=200 nf 15. 000
LR IE R m 15. 000
H HikA TEFFIEAEE, t=10 nf 0. 100
(4) fRibiERE
A A =200 nf 8. 000
Kk & A7 VP ¢ 65 m 3.700
(5) = /) Ak
ar7Y—h 18-8-40 m3 5.900
fitzs HEEED m 18.100
St RC-40, t=150 nf 7.700
LR IE R m 7.700
(6) 1 ik fesE
a7 Y—h 18-8-40 m3 15. 000
fitzs HEEED m 62. 000
St RC-40, t=150 nf 35. 000
LR IE 1 m 35.000




R 2 faf#fF =i

AEJINPEES & HERIE 6 T4 44 LRFEERLR

TFE - R - A0 Biks AL Kok i &
H HikA TEHWHEE, t=10 nf 2. 000
KKk VP ¢ 65 m 5.200
Wt LB R4S JRTE 300%300 e 10. 000
(7) 2 ik fesE
a7 Y—h 18-8-40 m3 9.200
fitzs HEEED m 32. 000
St RC-40, t=200 nf 17. 000
LRI R m 17. 000
H HikA TEHWHEE, t=10 nf 1.000
KKk VP ¢ 65 m 3.100
Wt LB R4S JRTE 300%300 e 5.000
(8) 3 Wik HehE
a7 Y—h 18-8-40 m3 9.900
fitzs M 7 R 15 ) m 25. 000
St RC-40, t=200 nf 14. 000
LR IE 1 m 15. 000
H HikA TEHWHEE, t=10 nf 1.000
KKk VP ¢ 65 m 3.300
Wt LB R4S JRTE 300%300 e 4. 000
(9)F¥EY =27 U —h
a7 Y—h 18-8-25 m3 2.100
fitzs HEEED m 0.300
St RC-40, t=150 nf 20. 000
LR IE - m 20. 000
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TFE - R - A0 Biks AL Kok i &
ar7Y—h 18-8-40 m3 8.700
fitzs HEEED m 39. 000
St RC-40, t=150 nf 14. 000
LR IE 1 m 14. 000
3. EmEREL
(1) AEAT
A — b G m 263. 000
4. HEKL
(1) 1 ZURMAE
B ;{\J%& 300300 (& 1 T+ 4 I 10. 000
NS = PC4-B300 (X & F-[H1iA ) e 38. 000
SLHERS RC-40, t=100 nf 11. 000
LR IE - m 11. 500
5. HhEET
(1)&fh%eT
a7 Y—h 18-8-25 m3 2.100
St RC-40, t=100 nf 21. 000
6. HEMHEL
(1) HEEMEUE L T
a7 U—MREEL R E) m3 4. 200
(2) it
a7 U — b Efrar 27— b m3 4. 200
7. ML R
(1) KT
a7 Y—h 18-8-25 m3 3.800
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TFE - R - A0 Biks AL Kok 5 &
fitzs IR EY) m 32. 000
SLHERS RC-40, t=150 nf 17. 000
LR IE m 16. 000
A t 20. 000
HRL nt 10. 000
8. &L
(1) et
A2 38 5 A i B A 2. 000
9. ZOfth
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